I 1—XYvh—ER

_ E B O o
4 3 BC 8%
X4 |(E270 BXRIST1—RYyH—RFEU—15) KEBEARXE . ] 1 100 A
218 |8 BRI IS ESC I A 5
HEf |2012%F 68 17H 158F 15% A ERFE 8045 EvFIKEE
T B H—E HIZE1 & E— FANEF B #8147 Z ANLZ
B 782 XE 0 ACERE RE &2 FMHE EZ1%
(F—L1) (F—L2)
0 B 1
BRATRR—LI5TS2=Fa1—R 4 '| +LyY AR FEU-15
4 ®BE 0
=z k 3 i PKE%% i 3 k £
X a— = . AL AL . = a— K
Niousm BE [ mE 1Hlal =218 |e|ellelg| EFE | A[FTEF BT ouenh
0 28I &3 [ckl21|lo1]|cok] #E FiE 0
1 1 2 BhE #FE |DF|02]]03[DF| ##%t kFE 0
1 1 . HBk DF|03|| 04| DF| &k KiE 0
0 =S DF04][06|MF] /I#k Kig 0
0 mEy 5k |MFlo5]|]08|[MF| FiE Eit 0
68 0 wH E¥% [DFlo6|] 10| MF] ¥ET KB 1 1
80 0 #42 x— |rwloz]]11[Fw] 5 X 0
80 0 Hd 2E#  [MF[08]]| 13| MF lCE S 2 2
70 1 1 st $ke |[FWl09][15]FW] EiE B 0
80 5 1 6 |3 K& #& [Fw[11[[16]|MF] 74 FEk 1 1
0 WA KA |DF[12|[19|DF[ 3T =4 0
7 0 % _BEh MF[10]]02|DF| #2;8 #R3t 0
6 2 2 AR BEA [Fwl13[loo[Fw] Fi =& 1 1
9 0 TE —pk |MF|[14]] 12| DF H= —% 0
0 =) 224 |MFl15[[20|MF] 4B HEFEL 0
0 BA th— [DF|16]]22|GK|7:—51 z—xiEmi 0
8 0 xH BAE |[MF|18]|23]|FW| #FH —E 0
0 g2 B [MF[19][ 25 [MF] RHH EBX 0
0 A fE | GK| 20 0
11 [ 0 gl A [DF[23 0
Z2&£-Ri5 P s sea |z Z2&£-Ri5
[ ETE] BN [ R Emam | BT | ¥ | FOAGH | ¥ | &Y ormmrTEm 2R B
08 [m+ m=wm| 80 =2 C2 8 4 AP 3 2 |06 [mn# x| 30 z C2
2 5 7] GK [ 8 4 4 | 04[mK x1m| 48 z C1
1 2 3] ck |2 0 2
8 8 16 | E3EFK] 10] 4 6
0 0 0 | EEFK| 0 0 0
1 1 2 [dov1)] 2 1 1
0 0 o] PK [0 0 0
[Z&£EA] C1: RAR—YMITA.C25T7T 1. C3: £i&. C4HRYRLDER., C5:BESTA. C6:FERETE. CTEFAIA, Co:EH A X
LRIBIEH] S1:ELLFRELGT LA, S2ERHTA. S DIEME, S4: FHMEMHIE (). S5:ESMERHAIE(Gh). S6:{85F., CS:Z4&2[
) F—L% g2 BREKL [Hl:~FKYIJ)L,. >TOD/NR, 1 FEERO/NR, XEB#,. SYa—k HATALY
29 |tLvyYKBR FHU-15[ 13 i EE 15—13S
48 |mEovrk—ry5902z72—2] 11 KE 28 |PK
64 |wmovrtns57va=7a—z| 11 KE B#g [xZIEhEk S
68 |maourg—nssva=7a—z| 11 KE £8 [11~S
77 |emoorrnssova=ra—z| 13] AR JBA [11S ZIEFNEK13S
PKER D %18 1 2 3 4 6 7 8 9 10 11 12 13
PKEKDFZBD AL 10BDEFEAHKIILI=EZT10 O, 10BDZEMNEKREKRLI-EEM0 x|,
EBEE £ EBEE £
BEEFEF—L) & BEEFEF—L) &
(HBFF—L) % (BBFEF—L) %




